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4.

LOGICAL REASONING

It x stands for ‘addition’; < stands for "sublraction’;
> slands for ‘multiplication’; + stands for
‘division’; — stands for ‘equal to’; = stands for
‘greater than'; = stands for ‘less than'; then
which one of the given altematives is correct ?
(A) B<d4x3-3x2x1
(B) 8>4<3-3=2<1
(C) Bx4<3+3<2<1
(D) B+4x3+3>2x1

Which one of the following Venn diagrams
represents tha relationship amongst "Musicians,
Instrumentalists and Violinists™?

In a certain code language, ‘nee muk pic' means
‘grave and concern’, ‘il dic so' means ‘every
body else’ and ‘tur muk s0' means ‘body and
soul’. Which of the following would mean ‘every
concern'?
(A) dic pic
(C) il nee
(D) Cannol be determined

(B) pic nee

COMPUTERS AND INFORMATION TECHNOLOGY

Which of the following benefits are offered by

Hemegroup Networking feature in Windows 77

(A) Easy sharing of libraries and other files
throughout the homegroup in Windows
Explorer.

(B) Easy access to shared media libraries in
Windows Media Player and Windows Media
Center.

(C) Ability to stream media 1o devices (other
computers, media extenders and players,

digital picture frames, and 50 on) using Play To.
(D) Al of these

is a device that will only send a
message lo the device that needs or requesis
it rather than broadcasting it to all devices.
(A) Router (B) Hub

(C) Swilch (D) Modem

Ei‘

in Sl layer, end-1o-end connectivity is provided
from host-to-host in .
(A) Data link layer (B) Session layer
(C) Metwork layer (D) Transport layer

is a method of encryption that provides
two differen! keys, a secrel key and a public
key.

(A) Symmetric encryplion

(B) Asymmetric encryption

(C) Authentication

(D) Detection

Aero shake feature of Windows 7 requires
shakes only in order 1o perform the

task.
(A) 3 (B) 2
(C) 10 D) 7



ACHIEVERS SECTION
9. Which of the following is/are advantage(s) of 1¢. Identify the type of system with the help of given

Cyber Laws under IT Act of India 20007 diagram.
1. Digital signatures have been given legal

Writing
validity and sanction in the Act.

output

2. Itnowallows Govemment tolssue notification
on the web thus heralding e-governance. %

3. It also addresses the imporant issues of 5 Job B
secunty, which are so critical to the success g Job C i
of electronic transactions. = (Waiting)

4. It shall now be possible for corporates 1o ¥ g
have a statutory remedy in case if anyone  secondary Disk Storsge 5 o] cru
breaks into their compuler systems or 2 —

network and causes damages or copies
data. The remedy provided by the Act is (A) Mulﬂpfogramnﬁ-ng system

in the form of monetary damages, not (B) Multiprocessing system
exceeding ¥ 1 crore. (C) Batch-processing system
(A) Only 1 and 2 (B) Only 2 and 4 (D) Uniprogramming system

(C) 1,2, 3and 4 (D) 1,3and 4

™

FATTERN & MARKING SCHEME

| 13) Mathematics
Section 'H}Phﬂulfhnﬂﬂrr!mldﬂ-lmhﬂm_ or
e e 1 gy
s BAERRRT PSR FRAR L ¥ 0o 13
Marks per Ques. 1 3 g i

m-t:mrfwﬁummm induction, AC, Electromagnetic wives, Optics, Modern Physics, Semiconductor
Ehrumcmswm

$ection - 3 : Relations and Functions, inverse Trigonon ‘rmmmﬂmcmum_mummhmw
of Deryves, Inrals, Agpication of Iteraty ofk e cio Agebes, T '
%-!:MMNMMWhHman:;MHM.

PHYSICS AND CHEMISTRY
1

- Aray oflight passes from vacuum into a medium discharged and charged again, the process
of refractive index i, the angle of incidence is being repeated ntimes. Due to this, potential
found fo be twice the angle of refraction. Then of the larger capacitor is decreased to V.

inc i
the angle of incidence is The value of Cis
(A) cos! (w2) () 2cos! (w2) " \Vn
(©) 2sin" O 2wz w G ® G [["{g - 1]
2. A capacitor of capacitance C, is charged to <
a potential V, and isolated. A small capacitor ©) C,,“ v ’ . ‘J o Co[ [ %) 1]
of capacitance C is then charged from Cy: Vi v
iz - - == SOF | Sample Papar | Class- 12 se—
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3.

A ray of light in a liquid of refraclive index 1.4,

approaches the boundary surface between the

liquid and air at an angle of incidence whose

sine is 0.8. Which of the following statements

is correct about the behavior of the light 7

(A) It is impossible to predict the behavior of
the light ray on the basis of the information
supplied,

(B) The sine of the angle of refraction of the
emergent ray will be less than 0.8.

(C) The ray will be internally refllected.

(D) The sine of the angle of refraction of the
emergent ray will be greater than 0.8.

A metal X is prepared by the eleclrolysis of
fused chlorides. It reacls with hydrogen to
form a colourdess solid from which hydrogen
is released on treatment with water. The metal
is

(A) Al (B) Ca
(C) Cu (D) Zn

5. A 0.008 M solution of M;,SU; is isotonic with a
0.02 M solution of glucose at the same
lemperalure. The apparent degree of dissociation
s
(A) 0.5 (B) 0.75

(C) 1 (D) 0.25

6. A compound X' when reacted with PCI, and
then with NH,, gives Y ", When Y "is treated with
Br, and KOH, it produced 'Z". ‘2’ on trealment
with NaNO, and HCI at 0°C and then warmed
with water produced ortho-cresol. Compound
xK'is
(A} o-toluic acid
(C) o-bromotoluene

(B) o-chlorololuene
(D) m-toluic acid

ACHIEVERS SECTION

1

One mole of an ideal gas at pressure P,
temperature T, and volume V, is expanded
isothermally to twice its volume and then
compressed at constant pressure 1o (V,f2) and
the gas is brought to original state by a process
in which pressure Is directly proportional to
volume. The correct representation of process

8. Observe the given graph carefully.
+

Reaction path
The activation energy of the backward reaction,

heat of reaction and threshold enargy of the
reaction respeclively ara
(A) x—y,yandx+ y-2
(B) x+y+ 5 y+2zand z
(C) x+yyandx+ y+ Z
(D) x¢y, yand x-y- 2

MATHEMATICS

9,

If J(1- x*) + J(1- y*) = a(x* - ¥*) and

%ﬂm},ﬂ:—}%].m

A fxy=% ® fxn=L
(C) rtx.rl=g§ (D) ﬂxﬂ=§

10. For non-zero vectors 4 b, &
(@xb)-c|=|a| | b] |€] holds iff
(A) &b=0b¢=0
(B) bé=0¢a=0
(C) ¢-8=04ab=0
(D) ab=b-é=¢c-a=0




BIOLOGY

9. The allele for pea comb (P) in chickens is to human blood, the percentage of precipitation
complelely dominant to the allele for single comb indicates evolutionary relationship with that
(p). The alleles for black feather colour (B), and animal. The following experimental results
white feather colour (B) show codominance, were oblained :
s0 that BB' individuals possess blue feathers. Species: Human (H) - 100%; M - 37%: N - 75%:
Il chickens heterozygous for both pairs of 0-79%:;P-17%
genes are maled, whalt proportion of offspring Which phylogenetic iree would best represent
are expecled to be pea combed and white these results?

feathered? N v HON M F
(A) 9/16 (B) 18
() 116 (D) 2/16 A w (8) w
10. Human blood, when mixed with anlibodies
MK

to human blood, will give maximum PNOM
precipitation. (C)

If another animal's blood is mixed with antibodies (D)
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Section - 3 ; The Syflabus of this section will be based on the Syflabus of Mathematical Reasoning and Quantitative Aptitude.
Section - 4 : Highes Order Thinking Questions - Syllabus as per Section - 2.
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LOGICAL REASONING

1. In the given letter serles, some of the letters  Conditions:

are missing which are given in that order as (i) It tha first letter is a consonant and the last
one of the options below it. Choose the correct letier is a vowel, both are to be coded as
option. d,

i a_ch_a_aba_cbe_ (i) If both the first and the last letters are
(B) cbbac consonants, both are to be coded as the
(D) abbba (iii) If the first letter is a vowel and the last

letter iz a consonant, thei es
2. There is a group of lettars followed by four 3 { .00 e k0

combinations of digits/symbols. You have to be interchanged.
find out which of the combinations correctly METUFB
represents the group of letters based on the (A) %$60%1
following coding system and the conditions. B) 1560¢1
Letter RDAEJMKTB UI|PWHF {c B
Digi!@ 48B58$*126%07@394% W) 39008
Symboi: (D) 1$604%
£ — — — SUF | Sample Paper | Class-12 e—




3.

5.

i.

There is a definite relationship between figures
P and Q. Establish a similar relationship between
figures R and S by selecting a figure from the
options that would replace (7) in figure R.

3
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MATHEMATICAL REASONING

f dx =

(-1 (x+ 2"

) g[:—;%)mm (®) g{iif]u‘+c
o 5" b

X+2

Degree of the differential equation

[n z[g]arg - 5% is

(A) 1 (B) 2
(C) 3 D) 4
The value of x for which the matrix product
2 D0 Ti-x 14x 7Tx
g 1 oo 1 0
1 -2 1)l x -4x -2x
equals an identity malrix is

1 ' 1
A) - By —
(A) 3 (B) 3

1 1
C) — D) -
(C) 3 (O) r

EVERYDAY MATHEMATICS

A can lay railway track between two given
stations in 16 days and B can do the same job
in 12 days. With the help of C, they did the job
in 4 days only. Then C alone can do the job in

1 2
(A) 92 days (8) 9¢ days

(©) agdars (D) 10 days

In a group of 6 boys and 4 girs, four children
are 1o be selected. In how many different ways
can they be selecled such thal at least one boy
should be there?

(A) 159

(B) 194

(C) 205

(D) 209

ACHIEVERS SECTION

9.

Consider the following statements.

Statement 1 : A tangent parallel to x-axis can
be drawn lor fx) = (x = 1)(x = 2)(x - 3) in the
interval [1, 3].

Statement 2 : A horizontal tangent can be
drawn in Rolle's theorem.

Which of the following option hold?

(A) Both statement 1 and statement 2 are
true,

(B) Both statement 1 and slatement 2 are
false,

(C) Swuatement 1 is true, Statemeant 2 is false,
{D) Statement 1 is false, Stalement 2 is true.

10. The diagram shows a quadratic curve and a

straight line y = mx + ¢. They meet al the points P
and Q on the r-axis and y-axis respectively.
L ¥

VEy e

L
P40 2 3
0\ x

(a) Find the equation of the quadratic curve,
(b) Find the values'of m and ¢ respectively.

(a) (b)
(A) —¥-2x+8 2,8
(B) X +2x+8 6,4
({C) ¥-2x-8

4
(D) -2 -2x+8 8,
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1. Nobody in this team will never allow us to get  sentence.
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SYLLABUS : As Per Your Prescribed Sylisbus.
WORD AND STRUCTURE KNOWLEDGE

too . . . Z. (A) We recommend that you
(A) Big for your bools (B) Big for your pants (B) follow the formatted shown here
(C) Bigforyoursize (D) Big for your boot (C) when preparing notices

(D) 1o be displayed on the bulletin board.

s PR e

Direction (Q. No. 3 to 6) : Complete the gaps In glasses whenever she noliced that anyone
this paragraph with the right option. needed a g =
When her friends arrived, Suman 3__ (A) Top-up s (B) Handed round
d:ipsaadumersnad:sandhar sister JETFANT {c} Poured out (D) Tﬂpplnﬂ up

drinks. She went round the room 5

e

SPOKEN AND WRITTEN EXPRESSION

Direction (Q. No. 7 and 8) : Choose the phrase 8. If youare . You are in favour of new

that best completes the sentences. ideas.
7. ifyou are you have extreme or very (A) Progressive (B) Innovative
strong views. (C) Diplomatic (D) Radical

ACHIEVERS SECTION

Direction : Choose the option which is closest Direction : Cheose the best option.

in meaning to the underlined word. 10. The RBI Govemor said in a press conference
9. Dappled light filtered through the trees on to that the nations economy is yet.

the ground. (A) Out of the forests \

{A) Patches of (B) Rays (B) Notout of the trees

(C) Stirring (D) Stanting (C) Out of the trees

(D) Not out of the woods
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Section = 3 : Nature and Significance of managerment, Principtes of management, Business emfronment, Planning, Function of management,
Friancia M o

Section - 4 ; Introduction to Accounting, Theory Base of Accounting, Recording of Transaction, Bank Reconciliation Statement, Depreciation,
Provision and Reserves, Bills of Exchange, Rectification of Erors, Finandial statement for sole proprietorship/Not-For Profit organisation,
Accounting for Partnership Firms, Accounting for Companies, Analysis of Financial Statements and Ratio Analysis, Cash Flow Statements.
Saction - 5 : Higher Order Thinking Questions - Syflabus as per Section - 2, Section ~ 3 and Section - 4.

QUANTITATIVE APTITUDE & REASONING

1

A die is thrown twice and the sum of the
numbers appearing is observed to be 9. Whal
is the conditional probability that the number 4
has appeared atleasl once?

(A) 172 (B) 2/3

(C) 34 (D) None of these

Divide 20 into four parts which are in A.P. and
such that the product of the first and fourth is
to the product of the second and third in the
ratio 2:3. Find the product of the first and lourth
terms of the AP.
(A) 12

(C) 20

(B) 16
(D) 25

3.

Mehul went 1o the market and bought a few

apples, mangoes and bananas. He bought

a total of 42 fruits. The details of the fruits

purchased is as follows :

(i} The number of bananas is less than hall
the number of apples.

(i} The number of mangoes is more than 1/3rd
the number of apples.

(i) The number of mangoes is less then 3/4th
the number of bananas.

How many apples and mangoes did Mehul

buy?
(A) 17 (8) 21
(C) 28 (D) None of these

ECONOMICS

4,

A consumer buys 17 units of a good at a price
2 10 per unit. When price falls to ¥ 8 per unit, the
consumer buys 23 units. Using the expenditure
approach, what will you say about price elasticity
of demand of the good?

(A) More than unit elastic

(B) Less than unit elastic

(C) Unit elastic

(D) Perectly elastic

Why externalities are a limitation of taking GDP

as an index of welfare?

(A) It helps GDP fo rise.

(B) GDP fails to value the cosl of such
factors,

(C) It results in a decrease in GDP.

(D) It will have no effect on GDP.

6.

From the following data about govemment, find

revenue deficit, fiscal deficit and primary deficit :

Plan capital expenditure = 120

Revenue expenditure = 100

MNon plan capital expenditure = 80

Revenue receipls = 70

Capital receipts net of borrowings = 140

Interest payments = 30

(A) Revenue deficit = 40, Fiscal deficit = 90,
Primary deficit = 60

(B) Revenue deficit = 30, Fiscal deficit = 90,
Primary deficit = 60

(C) Revenue deficit = 40, Fiscal deficit = 60,
Primary deficit = 30

(D) Revenue deficit = 30, Fiscal deficil = 60,
Primary deficit = 30

BUSINESS STUDIES

Tl

Management is a process of
(A) getting things done

(B) achieving goals effeclively
(C) achieving goals efficiently
(D) all of the above

The principles of management are significant
because of

(A) increase in efficiency

(B) initiative

(C) optimum utilization of resources
(D) adaptation to changing technology

Planning may not guaraniee success because

(A) toplevel plans and middie level management
implements

{(B) dynamics of business, environment may
change

(C) planning is futuristic

(D) all of the above




10. X, Yand Zare partners sharing profitin the ratic 11, M Ltd issued 10,000 shares of ¢ 50 each. The
of 5: 3: 2. They decide o share future profits amount of share was payable as follows :
in the ratio of 2 : 3 : 6 with effect from 1* April, T 15, on application, T 10 on allotment and
2016. They also decide to record the etfect of balance of first and final call. Applications for
following revaluations mm affecting e bo-::k 15,000 shares were received and allotment was
mg":ﬁ_m liabiiities, by passing single made to all the applicants of pro-rata basis.
d -k o Directors decided 1o adjust excess application
Figure (in%) Figure (in ) money towards allotment. Calculate the amount
Land and B‘Uilﬂiﬂg 3,00,000 4,50,000 translerred to Share Allotment.
Plant and Machinery  4,50,000  4,20,000 (A) T 60,000 (B) 70,000
Trade Creditors 1,50,000  1,35,000 (C) 85000 (D) None of these
Outstanding Rent 1,35,000 1,80,000 gl
The necessary single adjusting entry will be : 1 Ep';::? :::t: e 20
(A) Dr. Zand Cr. Xby ¥ 27,000
(B) Dr. Xand Cr. Zby T 27,000 (B) Fixed Assels
(C) Dr. Yand Cr. Xby 2 27,000 (C) Both Current and Fixed Assels
(D) Dr. Xand Cr. Y by 2 27,000 (D) None of these
13. From the following information, calculate retum on 14. Liberalisation means
investment (or retum on capital “’P‘Wﬁ'} (A) Integration among economies
PMI“‘-“"{‘ | (B) Reduced government controls and
Share Capital 5,m.ﬂm restrictions
'Reserves and Surplus 2,50,000 (C) Policy of planned Disinvestments
Net Fixed Assets 22,52,000 (D) None of these
Non-current Trade investments [2,50,000 | 4o oot how the production possibility curve
Cument Assets 11,00,000 is affected when resources are inefficiently
10% Long-term Borrowings 20,00,000 in"an economy?
Current Liabilities 8,50,000 (A) PPC will shift downward.
Long-term Provisions NIL (B) PPC will shift upward.
Net Profit before Tax is T 6,00,000. (€) No change in PPC.
(A) 29.09% (B) 39.09% (D) Will move from one point to another on the
(C) 49.09% (D) 9.09% same PPC.
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